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\ «. Robert throws a heavy ball 50 times. The table below shows the distribution of the distances
thrown, measured in feet correct to the nearest foot.

Distance (feet) 16-20 | 21-25]26-30| 31-35|36-40| 41-45

Frequency 12 14 10 8 g 1

(a) Calculate an estimate of the mean distance Robert has thrown the ball.

. The table below shows a grouped frequency distribution of the weights, correct to the nearest
@ kilogram, of 25 dogs.

Weight (kg) 1to5 6to 10 11to 15 16to 20 21to 25

Frequency » 8 6 4 2

(a) Calculate an/ estimate of the mean weight of the dogs.
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) %, Simon has an orchard of pear trees.
J ] He records the total weight of pears, measured to the nearest kilogram, on each tree.

Yk

He makes this table.
Weéih:h(;ffg:g essgirg;ree Number of trees Class mid-point
21 to 30 9
31t0 40 10
41 to 50 12
51 to 60 17
61to 70 7
71 to 80 5

(a) Calculate an estimate of the mean weight of pears obtained from a tree.

(b) Find the class interval which contains the median.
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